OUTCOMES OF ROLLING A PAIR OF DICE

A Uk, WN - a ks, WN -

A Uk, WN -

(Dice is plural. One is called a die)

1 2 3 4 5 6
1,1 | 1,2 | 1,3 1,4 | 1,5 | 1,6
2,1 | 22 | 23| 2,4 | 25 | 2,6
3,1 | 3,2 | 33| 34| 35| 36
4,1 | 4,2 | 43| 44 | 45| 46
551 | 52 | 53| 54| 55/ 56
6,1 | 6,2 | 6,3 | 6,4 | 65 | 6,6
1 2 3 4 5 6
1,1 | 1,2 | 1,3 | 1,4 | 1,5 | 1,6
2,1 | 22 | 23| 2,4 | 25 | 2,6
3,1 | 3,2 | 33| 34| 35| 36
4,1 | 42 | 43| 44 | 45 | 46
551 | 52 | 53| 54| 55| 56
6,1 | 6,2 | 6,3 | 6,4 | 6,5 | 6,6
1 2 3 4 5 6
1,1 | 1,2 | 1,3 | 1,4 | 1,5 | 1,6
2,1 | 22 | 23| 2,4 | 25 | 2,6
3,1 | 3,2 | 33| 34| 35| 36
4,1 | 42 | 43| 44 | 45 | 46
551 | 52 | 53| 54| 55| 56
6,1 | 6,2 | 6,3 | 6,4 | 65 | 66

There are 36 possible outcomes
when rolling 2 dice.

Eventhough aroll of 1,2 and 2, 1 are
considered the same...think of one
red die & one blue die or as a 1st die
& 2nd die...so different outcomes

ROLLING TWO EVEN NUMBERS

How many possibilities? 9

ROLLING DOUBLES
How many possibilities? 6
*Doubles only count as ONE outcome.

If red = 6 and blue = 6, same outcome
if you switch



